—~UNIVER"-

UAGP1500A__ _BSO

‘ 184
90
53 12001 1
1654 30 H7 20"
93 40| | |40 ‘ ©w
|
- Jed Gl -
(=)
- 2
= | fﬁ v - - =
Hm — | =) - +|‘-0  — —
~ bl el \% =) w 9'0[“8_ =
0 1 r @10 H7 /12 hyi g | 1%, = 0 :
=] - ] N =3
9613 53 ® | ©lbg Cle @77§ S Bas Ebi = ?
g - 0% N Igst 8 sg O 1O
[ T & N o (=
@10H7 /12~ 111 ~ m T, © @10H7 /12 ~ T
~ o3
M12/20 Jﬁl M12/20 1 B3 h,i?[ M12/20
CrIETT integrated - L
o [ ] el D & < L1
M12x 1
50 * 10°% 18 50 *
80 30" 1| ||| 80+
285 | |
115 21 G1/2"
integrated
= — e TEJ
=33 fis| [ e[ &2
(Yol
& 5 | o
x G1/8"
162 2116
110
M12/20 90 *
@10H7 /12 Passive brake
——
Pivot rotation A 9 3 I : :j
in degrees - 8
45° 583.5 e
60° 597 —
90° 628 .\ 4 |2 "
120° | 6625 moi 1 A
513
F[@ ]2
DA v
77777 513
UAGP1 SOOA o BSO 6 PIVOT ROTATION
6 120=120°
090 = 90°
060 = 60°
045 = 45°
Size Holding moment Max. torque at the rotary Weight Min./M.ax‘ operating pressure: 0,4 /0,6 MPa
table 0,55 MPa Operating temperature: 5° + 45° C
Predeterminate pivot rotation in degrees: 45°- 60°- 90°- 120°
150 6000 Nm 120 Nm 25Kg Rotary table position: Horizontal 90°
Electronic sensor with M12 swivel connector, from 0° to 90°
Supply voltage: 10 + 30 Vdc
* : TOLERANCE BETWEEN DOWEL HOLES + 0,02, BETWEEN SCREW HOLES + 0,1 IP code: IP 65

Subject to technical modifications without notice

Rev. 00 12.06.20



—~UNIVER"-

165.4
93
eio L] |
A 1% loa |
Tzl e | ok
e
GIOHT (12 2
wz/20 -~ |83
i
T Jlisal]
50 *
80
0115
|
Pivot rotation A
in degrees
45° 583.5
60° 597
90° 628
120° 662.5

UAGP1500K _

Size

_BSO

Holding moment

UAGP1500K__ _BSO

150

6000 Nm

‘ 184
90
53 120201 1
30 H7 20"
‘_4_0. .@,‘ o
i |
ol %8 L
©
a @
= ~
;ﬂ T g |58
@10H7 /12 ) 1 % = S
W18 | &
e o (Fo| 1
Ne o SER S
= e ©
1 M12/20 L1 B3 S
integrated ~
—1 Sz ®
5! N N <
+005 M12x 1
10 ~ 18
30201 | ‘ 80 * —_
285 | ||
21 G1/2"
integrated
=1 Y
&3] e[ N2
@
G1/8"
162
110
M12/20 90 *
@10 H7 /12
———
N q
23 ®
Lo ®
—J
6 PIVOT ROTATION
120 =120°
090 = 90°
060 = 60°
045 = 45°
Max. torque at the rotary Weight
table 0,55 MPa
120 Nm 25Kg

* : TOLERANCE BETWEEN DOWEL HOLES + 0,02, BETWEEN SCREW HOLES + 0,1

Subject to technical modifications without notice

Rev. 00 12.06.20

Min./Max. operating pressure: 0,4/ 0,6 MPa

o

©r

B
@10H7 /12 ~

M12/20
e

E
]
|

|

75

2116

Passive brake

Operating temperature: 5° + 45° C

Predeterminate pivot rotation in degrees: 45°- 60°- 90°- 120°
Rotary table position: Horizontal 90°

Electronic sensor with M12 swivel connector, from 0° to 90°
Supply voltage: 10 + 30 Vdc

IP code: IP 65



—~UNIVER"-

UAGP150PA_ _

_BSO

184
90 |
53 120201 11
165.4 20 | 3047
|
8 ‘.4_0_ .4,0_‘ o
r [
P - %3 &/ ) M
=]
5 | | N _ 3, { ]
~ o) IS o |58 -~
N T i A @10 H7 /12 \J o 2185, |3 O I I
95“_ ol ® @ ole +é‘2 S © A +btv To P
il RS e SO - FR o 10
@I0HT 112 " F ~ o ‘ 3 @10H7 /12 7 =
5 9] ~ LT r
M12/20 4%3 M12/20 ] &2 = M12/20
T integrated = T
b [ —— SN © = )
— ] 8\ ~ <
50 10" M12x 1
30" 1| ] 80+ 18 90 7]
80
28.5 |
115 21 .
integrated T G172
- =1 PV
i==id TEd] 5] =i
L
% il e
oo\ G1/8"
= 2116
162
110
90 * M12/20
G10HT /12 Passive brake
| —
Pivot rotation (] —
in degrees A ® 4 g g
® o2
45° 583.5 -
60° 597 e
4 |2
4 Eﬂ 5 z FE 12
513
db—.
14
UAGP1 SOPA o BSO 6 PIVOT ROTATION
6 060 = 60°
045 = 45°
Size Holding moment Max. torque at the rotary Weight Min./M.ax‘ operating pressure: 0,4 /0,6 MPa
table 0,55 MPa Operating temperature: 5° + 45° C
Predeterminate pivot rotation in degrees: 45°- 60°
150 6000 Nm 120 Nm 25Kg Rotary table position: Horizontal mirror of O

Electronic sensor with M12 swivel connector, from 0° to 90°
Supply voltage: 10 + 30 Vdc

* : TOLERANCE BETWEEN DOWEL HOLES + 0,02, BETWEEN SCREW HOLES + 0,1 IP code: IP 65

Subject to technical modifications without notice

Rev. 00 12.06.20



—~UNIVER"-

UAGP150PK_ _

_BSO

iQ

184
90 ‘
53 120201 11
165.4 20 | 3047
|
93 ‘_@, 4,0,‘ w
]
- = | = -
o w y
©
| © ° L = —_
5 | n N _ 3, i%
~ o) |9 w |58 -~
o LP R @10H7 /12 xJ/ > g | Bis, 2 5
Ei l“ elo) ® ® @]e] +£v—)g «© o 3 1* 9
N amw,apd SN ER - B 04 |
o
@10H7 /12 ~ ~ m © P10H7 /12 ~
mi2/20 | %ﬂ . M12/20 M12/20
5 7] mtegrited = [T =
g [T 285 <
50 *
E 10:0.05 50 *
304;015 ‘
115 21
integrated
e | ———
iz=i8 T [ TEJ
E o
2116
162
110
90 * M12/20
G10H7 /12 Passive brake
1
Pivot rotation [ =
in degrees A ® d 2 “3_?
@ o —2
45° 583.5 -
60° 597 —
4 |2
4 12
v IRy
513
db—,
14 gE] E f
513
UAGP1 SOPK . BSO 6 PIVOT ROTATION
6 060 = 60°
045 = 45°
Size Holding moment Max. torque at the rotary Weight Min./M.ax‘ operating pressure: 0,4 /0,6 MPa
table 0,55 MPa Operating temperature: 5° + 45° C
Predeterminate pivot rotation in degrees: 45°- 60°
150 6000 Nm 120 Nm 25Kg Rotary table position: Horizontal mirror of O

* : TOLERANCE BETWEEN DOWEL HOLES + 0,02, BETWEEN SCREW HOLES + 0,1

Subject to technical modifications without notice

Rev. 00 12.06.20

Electronic sensor with M12 swivel connector, from 0° to 90°

Supply voltage: 10 + 30 Vdc

IP code: IP 65



—UNIVER-

UAGP150VA__ _BSO

184
160 ‘
165.4 53
+0.15 0.1
15 «20 120: 11
W BI0HT [ 12
5+é].1
) M12 /20
- P10 H7 /12 %w @ ~
:, e : _ N\
- o © _ i 8 *'o|§ > b
- — S - 25
@10 H7 /12 g ¥ —3 s o
M12/20 _ M12/20 3 < T 1
integrated bl [T
— SN e} =
= = = M12x 1 = T
X
190 %] 10%% 18 6020
80 30" Il || 8o* || 7 145
285 | |
115 G1/2"
integrated
Iz — =] .
iE=is e 5] & e T@}
[fol
% £ 2 @
w G1/8" sits
162
Passive brake
Qf
Pivot rotation A
in degrees
45° 583.5 —
60° 597 =
90° 628 4 |2
14 12
120° 662.5 W%T\ I T }T %
513
g S
14
513
UAGP1 SOVA o BSO 6 PIVOT ROTATION
6 120 =120°
090 = 90°
060 = 60°
045 = 45°
Size Holding moment Max. torque at the rotary Weight ?)A;I)r;: ;\Qianxé (t)s:ﬁr;:;?u’?;e;iurig‘lfcl 0,6 MPa
table 0,55 MPa A
Predeterminate pivot rotation in degrees: 45°- 60°- 90°-120°
150 6000 Nm 120 Nm 25Kg Rotary table position: Vertical 180°

* : TOLERANCE BETWEEN DOWEL HOLES + 0,02, BETWEEN SCREW HOLES + 0,1

Subject to technical modifications without notice

Rev. 00 28.05.20

Electronic sensor with M12 swivel connector, from 0° to 90°
Supply voltage: 10 + 30 Vdc
IP code: IP 65



—UNIVER-

UAGP150VK__ _BSO

184
160 ‘
165.4 53
40.15 +0.1
15 «20 120 11
1 +0.1 210 H7 /12
%0 M12/20
@10 H7 /12 = = ~
b= o) =
5, s = . N\
- o — &y '1@ 8 ?b § » +—s
3 D N Ol 3 O +é*'> > D ¢ D
3 1e o | @ < o o N .
S L ha{ P o
i B g P S — i 25
o
@10H7/12§4’ S 3 o @
M12/20 || , M12/20 1]
] integrated IR
= = =
[ < =
50 % 10° 60201
80 145
285 | |
(115 G1/2
integrated
e = L] =
| T . .
G1/8"
2116
162
Passive brake
9
Qf
Pivot rotation A
in degrees
45° 583.5 =
o)
60° 597
90° 628 4 |2
14 H & 9 Fé 12
120° 662.5 T Tl /r
513
4
NS
513
UAGP1 SOVK o BSO 6 PIVOT ROTATION
6 120=120°
090 = 90°
060 = 60°
045 = 45°
Size Holding moment Max. torque at the rotary Weight Min'/M,aX‘ operating pressure: 0,4 /0,6 MPa
table 0,55 MPa Operating temperature: 5° + 45° C
Predeterminate pivot rotation in degrees: 45°- 60°- 90°- 120°
150 6000 Nm 120 Nm 25Kg Rotary table position: Vertical 180°

*: TOLERANCE BETWEEN DOWEL HOLES + 0,02, BETWEEN SCREW HOLES + 0,1

Subject to technical modifications without notice

Rev. 00 28.05.20

Electronic sensor with M12 swivel connector, from 0° to 90°
Supply voltage: 10 + 30 Vdc
IP code: IP 65



—~UNIVER= UAGP150ZA_ __BSO

184
165.4 160 210 H7 /12 145
9 - 53 M12/20 §0:0.
o 207" 12040 11
B N R oo
<+
— *
o) o —t =]l
| O
S gt o] ® & &
- [P el > ™ "
+|£ 401 J % S lo ][
es el 50 \&{\ﬂ} i 8 |8 =
8 - ol 5 S | WOl i > — —
% l 3 e ® SCIE o 1 ® o ® o
(=) =] o o e &1 —|Fo — o o $
< & 54 -
w7 AR 1oy gloHr/12_—=n°  ° =% G5 o
@10 H7 /12 s o ©
feﬂ m12/20 [ =3 =
M12/20 " BT integrated ¥ I
; C— B o A
= | ~ D) I <
- 4005 M12 x 1
" +0,
50 19&15 11
80 302" || ] so*
285 | |
115 G1/2"
21
integrated
= — Yt T@l
i==)1 T L] IS
[Xpl
© G1/8"
162 @116
Passive brake
[@)
[
Pivot rotation
. A
in degrees
45° 583.5 ]
60° 597 —
90° 628 4 |2
4 12
o | eo2s i s A
513
4
513
UAGP1 SOZA o BSO 6 PIVOT ROTATION
6 120=120°
090 = 90°
060 = 60°
045 = 45°
Size Holding moment Max. torque at the rotary Weight Min./M.ax‘ operating pressure: 0,4 /0,6 MPa
table 0,55 MPa Operating temperature: 5° + 45° C
Predeterminate pivot rotation in degrees: 45°- 60°- 90°-120°
150 6000 Nm 120 Nm 25Kg Rotary table position: Vertical mirror of V
Electronic sensor with M12 swivel connector, from 0° to 90°
Supply voltage: 10 + 30 Vdc
*: TOLERANCE BETWEEN DOWEL HOLES + 0,02, BETWEEN SCREW HOLES + 0,1 IP code: IP 65

Subject to technical modifications without notice

Rev. 00 12.06.20



—~UNIVER= UAGP150ZK___BSO

184
165.4 160 G10H7/12 145
93 - 53 M12/20 g0t
= I 12020 11
D E @ ot R =& o
<
S p— "
o} O "{ e S
S S’,t o] ® ° o
IE 5o L P .
= o\ >
) led | ol st N | e[ | g H
= t - ® | @ 15 1] ol 18 N ® o
SIS o | @ o—+—~F2|-1 9
TR L | ol e o SR Q. o8
PI0HT (12~ ¥ @10 H7 /12— 2
M12/20 J F M12/20
] Il integrated [T ]
- — i} T
- F2S <
50 * 1010.05
80 30" |
285
0115 G1/2"
21
integrated —
- — Yy
i==is his=i 5] e[ N2 TEJ
E g o
G1/8"
162
2116
Passive brake
Q
Of
Pivot rotation
. A
in degrees
45° 583.5 =5
60° 597 ﬁ
90° 628 4 2
14 12
120 | a5 R
513
db—y.,
14
UAGP1 SOZA o BSO 6 PIVOT ROTATION
6 120=120°
090 = 90°
060 = 60°
045 = 45°
Size Holding moment Max. torque at the rotary Weight Min./M.ax‘ operating pressure: 0,4 /0,6 MPa
table 0,55 MPa Operating temperature: 5° + 45° C
Predeterminate pivot rotation in degrees: 45°- 60°- 90°- 120°
150 6000 Nm 120 Nm 25Kg Rotary table position: Vertical mirror of V

Electronic sensor with M12 swivel connector, from 0° to 90°
Supply voltage: 10 + 30 Vdc

* : TOLERANCE BETWEEN DOWEL HOLES + 0,02, BETWEEN SCREW HOLES + 0,1 IP code: IP 65

Subject to technical modifications without notice

Rev. 00 12.06.20



